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General Instructions:

()
(i)

The question paper has 31 questions in all. All questions are compulsory.

Questions from serial number 1 to 10 are Multiple Choice Questions. Each question
carries 1 mark.

Questions from serial number 11 to 22 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 23 to 30 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 31 is a map question of 4 marks from Geography only. After

completion, attach the map inside your answer book.
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3TeRed! Tel & s o wig § frefafed & 9 A o 51 9 & o fosmfyer um 972 1
@) ¥ HRER IR AR

(b) oM 3R FRR

(€ =Y R e

(d) IRl % HAAN AR FhRA

Who among the following enjoyed certain privileges by birth in France during the
late 18th century ?

(@) Big business men and merchants

(b) Peasants and artisans

() Clergy and Nobles

(d) Court officials and lawyers

wH § 1791 & Gfaun Er fr=fafes § o0 9 sifywr o1 afie g swoia’ 1
ATRR o &9 H i fepan a2

(@)  Sfer =1 iR

(b) A % HHY FHME

(€ 9T IR Ayt st wraan

(d) ST g

Which one of the following rights was established as natural and inalienable right
by the constitution of 1791 in France ?

(@) Right to life

(b) Equality before law

(@) Freedom of speech and opinion

(d) All the above

frfated o § ford IR W59 1 i ora § 728 faerd 82 1
@) Teur wew (b) W IW

()  stHH (d)  foer

Which of the following Indian state does not share its boundary with Nepal ?

(@) Himachal Pradesh (b) Uttar Pradesh

() Assam (d) Bihar

e HRIT Y- TS i G o STIHR &l & o1 shid |1 STYaTg URieq o & ? 1
(@) ST e (b) SR SAUATE

()  gHPa® TI=TE (d) = AR

Which type of drainage pattern develops where the river channel flows the slope of
the terrain ?

(@) Trellis (b) Rectangular

() Dendritic (d) Radial

el TR B R-FTH 1 F TaHF 3@ e & fag fr=fafea § 0 1 92 & 1
TART foham ST © 2

(@)  Gfe AT (b)  qE&A YL

() Y WEHR & R

Which term is used for the sudden overthrow of a government illegally ?

(@) Military Dictatorship (b) Coup

() Illegal government (d) Agitation
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10.

11A.

11B

et & Tgufa =T 3 o =t g & fag &2 Aifa fofa fag a2 1

(@) e weE (b) T gew

(© T4 R A5 d)  Sfi

For whose help had President Allende of Chile made various policy decisions ?

(@) Party members (b) Family members

() Poor and workers (d) Soldiers

frafafed § 9 = Sfaum a1 stee o172 1
(a)  TLELIR. FTREH (b) =1 TS= TR

(c) SR A 8% (d) TS AEg

Who amongst the following was the president of the Constituent Assembly ?

(@) Dr. B.R. Ambedkar (b) Dr. Rajendra Prasad

() Jawaharlal Nehru (d) Sarojini naidu

it shif 3 foraml st = fawmn 2 1

@ T 3R FEe & G w F S
(b) = ool =t Well Tl

() T ! @l HET

(d) oI B HEA

The ‘Green Revolution’ introduced the farmers to -

(@) cultivation of wheat and rice
(b) cultivation of green vegetables
(c) cultivation of sugarcane
(d) green the forests
Te fran st 1 frefafaa 3§ § fg & g g 872 1
(@) 3= foan (b)  HreATH fam
()  nefier e d)  SwEq gt
Sarva Shiksha Abhiyan is a step towards providing -
(@) Higher education (b) Secondary education
() Elementary education (d) All the above
IR Ty frg g A FTF I R T A T? 1
(@ 1o b) 29
) 4T d) 5
Infant Mortality Rate refers to the death of a child under the age of;
(@) 1 year (b) 2 years
() 4 years (d) 5 years
"I FIar’ it w1 & foTu SRR fohdl i SwReRl bl S St 3x1=3
Explain any three factors which led to the incident known as ‘Bloody Sunday’. ?
3teraT /OR

AL GfaaM &l 37 KAl s WY RifST 5% wR0T TORET et ot stfeerar 37X
AR Rl TR &9 Hahal 11

Explain the inherent defects of the Weimer Constitution that made republic unstable
and vulnerable to dictatorship ?
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12A.

12B.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

AT &) U ofifam’ w1 i | o fafaw) 3x1=3

State the three demands of ‘Lenin’s April Theses’
31erem /OR

AT shl GHY To9e g H e sh TIQ foremt st ool Shiehl hl T9E i |
Explain the factors that forced the USA to enter the second World War ?

* RT T T TR T Tl fefa §'7 A dehl § 39 e &l g wif) 3x1=3

‘India has an important position on the globe’. Justify by giving three arguments.

IRA % T 519 TRl o W fafaw | g it G- fosmand of fafem ) Yox2+1/ax

Name the two islands groups of India ? Explain two main features of each. 4=3

I} ol dF YRR ] T q YAF i Teh-Tdh faRISdT shi SARSAT hifold | 1/2x3+1/2x
3=3

Explain the three types of movement of tectonics plates and main characteristic of
each one of them..

ferTera st Afeal o6t fordl A fovroanedl =1 o s 3x1=3

Describe any three features of the Himalayan rivers.

o 1 o1 ? =% foret W fohg R Stelishiya @172 1+2=3
Who was Pinochet ? What made him unpopular in chile ?
A=l i i A @ faRvard =g Hifs | 3x1=3

Explain any three main features of democracy.

* R o1 S = e TRl a9 TeHifae Sl o e i giafared war e’ 3x1=3
S T QR 6 hl I SIS

‘The Constitution of India reflects the views of various social groups and political
parties.” Explain it by giving suitable arguments.

Tqg ST R Aeiel 3R =% foram o707 fo wrefelier qem Tl oSt & eeen 8 & 3x1=3
7

How do the medium and large farmers arrange for their working and fixed capital ?

Explain.

‘GUEE % w9 H @' R o1 €7 T sifee fR uee daree of oiR ofifge dst 1+2=3
S Here § for v fire 22

What is meant by ‘People as Resource ? Explain how is human resource different

from other resources like land and physical capital ?

“foreT 3R T SR B Rt safad it o & ygE fuite €' s ke feRm sy 3x1=3
Y YR Afgensdi & T<d 1 diF fagsii # vy i |
‘Education and skill are the major determinants of the earning of any individual in

the market " Explain the statement in three points with special reference to women
in India.
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23.

24.

25A.

25B.

26.

27.

28.

29.

30.

31.

STeRIfer el 1 a1 A 1?7 3T R AF] T MU forl 9R AT 1 Seere i |

Who was the leader of the Jacobin club ? State any four laws introduced by him.

i H S YT ST hi Yfshal shi A i |

Explain the process of slavery abolition in France

&9 H SR & YA A & TR qS1g4 i fefd 1 9o sifs )

Describe the condition of the workers under Tsar in Russia ?
3rerel /OR

Igfedl o 9fd fgeert sl Fifd 1 aui HifSw |

Describe the Hitler’s policy towards the Jews. ?

IR 1 GEATH -9 S T 8?7 3HF o J&A 9Fi & AW fafay sik g &t dH-
i faerand 9w Hifs )

Which is the oldest land mass of India ? Name its two broad divisions and explain
any three features of each

SAreha & faeg HIE U e fefEy |

Write any five arguments against democracy.

Gfaem i SRR (TEAEAT) % He hl a1 39 H ke ol o gitandt geit @ v
RIS |

Explain the significance of the preamble of the constitution and any three guiding
values embedded in it.

Fegall 3R dared % I & U SEd AR STeavasharstl St SARAT HIfST | IR *
o HEc YUl shiieh 1 T4 ferfea |

Explain the four requirements for production of goods and services ? Name the
most important factor of production ?

* IUSTRY T HETeH Y seiel ¥ SUgeR SRl i WErEdl ¥ 39 HUF i g Hifs |

‘Unemployment leads to wastage of man power resource’ Justify the statement
with suitable examples.

() T g R % TeHiaR @mEtE § (A) @R (B) W 31 e fafed 63 T E
T <t TRl SMRT % STER WX S ST i YgdH X AFiad § & fafed et

T 37 Hal W fafau |
(A) T qAdE @l
(B) TH T

(i) 3 AAfaA W& fAfafad # ST Hohdl gR1 <RIiEd Td 3k Wl AW fafe
(C)  ¥RA & H&A Y-4FT 1 Sfaurad forg
(D) ¥Rd ® femmerd & wod et <R

Fie : frfafaa v waw gianfea et & fag 79T Faw 31 F =_H W E

(31.1) TS TAT H AG T HROT o7 a1l 74l 1 W fafaw |

(31.2) WRA % H&A Y- 47T & IaorH forwg &1 7™ fafaw |

(31.3) ¥Ra ¥ femmera & Tod S <Rt wF W R?

(31.4) &TEIY 519 HHE oh! TSI ol A fafaw |

1+4=5

1x5=5

1+4=5

1+2+14
+1Y%2+1Y>
=5

4+1=5

2+3=5

4+1=5

5x1=5

2+2=4
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(i)

Two features (A) and (B) are shown in the political outline map of India.
Identify these features with the help of the following information and write
their correct names on the lines marked on the map.

(A) A Mountain Range

(B) A River

On the same political outline map of India, locate and label the following
items with appropriate symbols :

© Southern most point of the mainland of India.

(D)  The highest peak of the Himalayas in India .

Note : The following questions are for the visually impaired candidates only in lieu

of Q. No. 31

(31.1) Name the river that causes flood in northeastern states
(31.2) Name the southernmost point of the main land of India
(31.3) Which is the highest peak of the Himalayas in India ?
(31.4) Name the capital of Lakshadweep Islands..

-00o0-

1x4=4
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